
Service & Maintenance

WESTENDORF MANUFACTURING CO., INC.  •  PH: (712) 423-2762  •  FAX: (712) 423-1460  •  Email: sales@westendorfmfg.com   •   Web: www.loaders.com
WESTENDORFMFG  SJG6020017.1

SP-76 Basic Parts

BASIC THREE-PRONG BALE SPEAR REPLACEMENT PARTS
Ref. Part No. Description Qty. Ref. Part No. Description Qty.

6 HFN0616 3/8” NUT 2
7 LWM06 3/8” LOCK WASHER 2
8 QC300AS SNAP-ATTACH™ ADAPTER 2
9 U-5 U-BOLT 8
10 LWM10 5/8” LOCK WASHER 16
11 HFN1011 5/8” LOCK NUT 16

NOTE: C-3 Adapters are standard for Westendorf loaders. Other adapters are available. See instructions with the alternate adapter. **Order Part number
BS-248KIT if upgrading from old style round bale spear to the new style tapered, forged bale spear or if replacement spear is needed.

1 SP-76AS FRAME 1
2 BS-248 LARGE SPEAR 1
** BS-248KIT SPEAR, NUT & BUSHING 1
3 BS-247 NUT 1
4 BS-47B SMALL SPEAR 2
5 HHS0616032 3/8” X 2” BOLT 2

3

4

6

7

2

5

8

9

10

11

1


